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ENGLISH VERSION

Instructions : (1) All questions are compulsory.
(2) Use of simple calculator is allowed.

1 On the measuring test - A and B obtains 72 and 70 marks 14
respectively. When mean is 50 and SD is 07 is this frequency distribution.
When the mean is 90 and SD is 11 Find out the transformed Z score.

OR
1 Write short notes : (Both) 14
(1) Chi-square
(2) Wilcoxon - testing
2 Following results were found in one survey. Check this equal 14

probability.

Gujarati | Hindi | English
37 35 48

(Degree of freedom at 0.05 level is 5.99)

OR
2 Explain the ANOVA (F-test) in detail. 14
3 Write short notes : (Both) 14
(1) Normal distribution
(2)  Null-hypothesis
OR
3 "Is there significant difference between two group" check. 14

RIS N| M |SD.
Group—1 |64 |53.8 | 3.8
Group—2 |36 | 462 | 2.9

(t value 0.05 level 1.96)

PAQ-001-017202 ] 3 [ Contd...



4 Compute the product moment coefficient of correlation : 14
A - 10, 12, 16, 20, 09, 18, 12, 18, 15, 10.
B : 08, 10, 11, 17, 12, 15, 10, 20, 16, 12.

OR
4 Write short notes : (Both) 14
(1) Z-score
(2) Variable
5 Write short notes : (any two) 14

(1) Utility of mean and mode

(2) Sign test

(3) Non-parametric test

(4) The measuring F (ANOVA) by group of five student.

— GroupStudent | A |B[C | D
1 3151718
2 21413|6
3 415169
4 516|157
5 2 1314|5

(Degree of freedom at 0.05 level is 3.24)
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